
1 Pressure hose 

approx. 350 mm long 

Part No. 622 004 1001 

Extensions 

2 approx. 70 mm long 
Part No. 622 0041003 

3 approx. 105 mm long 
Part No. 622 004 1002 

4 approx. 140 m m l an g. with rubber eone. 
far spark plug apertures M10 x 1 + M12 x 1,25 

Part No. 622 004 1005 

5 Angle 70° 
Part No. 622 004 1004 

Rubber eone with soeket 

Rubber eone without soeket (*without illustration) 

6 63° Konus a 17 mm 
Part No. 622 004 1007 
Part No. 622 004 0007* 

1 63° Konus a 21 mm 
Part No. 622 004 1 013 
Part No. 622 004 0013* 

a 30° Konus e 21 mm 
Part No. 622 004 1006 
Part No. 622 004 0006* 

6 

9 

~ . 

-
·~ ..:..\ ' . ._,...., ,n 

4 

Threaded adapters !or spark plugs 

9 M14 x 1.25: flat seating, approx. 325 mm long 
Part No. 622 01 O 4287 

10 M18 x 1.5: conica! seating. approx. 134 mm long 
Part No. 622 010 4277 

11 M14 x 1.25: flat seating. approx. 134 mm long 

Part No. 622 01 O 4272 

12 M14 x 1.25: conica! seatingwith standard and long 

coupling. approx. 161 mm long 
Part No. 622 010 4271 

13 M10 x 1: flat seating. approx. 134 mm long 
Part No. 622 01 O 4259 

14 M12 x 1.25: flat seating. approx. 134 mm long 
Part No. 622 01 O 4258 

15 M14 x 1.25: conica! seatingwith short coupling. 
approx. 134 mm lang 
Part No. 622 01 O 4257 

IO 11 12 13 14 15 

patrizia
Evidenziato

patrizia
Evidenziato

patrizia
Evidenziato

patrizia
Evidenziato

patrizia
Evidenziato



 

16 Star age case (black) with foam insert 
Part No. 622 006 0001 

11 Check-valve 
far accessori es of Recording 
Compression Testers 
Part No. 622 003 1 003 

TEST EQUIPMENT: 

17 

Accessori es for Record i ng Compression Testers 

Adapters far reuse al der thread-adapters 

18 strai ght (with screw thread and check-valve) only diesel 
Part No. 622 004 1 009 

19 angl ed (with screw thread and check-valve) only diesel 
Part No. 622 004 1 008 

20 Swi tchgri p 
can be retrofitted to ali testers 
Part No. 622 003 1 004 

24 Spare parts set petrol 17.5 bar 
Conteni: Rubber eone 30•. SI ide-in plate. 
window an d recording charts 17.5 bar 

* Pos. 8, 21. 22. 23 
Part No. 622 000 1 005 

2s Spare parts set diesel 40 bar 
Conteni: SI ide-in pl ate. window an d recording charts 40 bar 

* Pos. 21. 22. 23 
Part No. 622 000 1 006 

26 Spare parts set diesel 60 bar 
Conteni: SI ide-in pl ate. window an d recording charts 60 bar 

* Pos. 21. 22. 23 
Part No. 622 000 1 007 

18 

21 

22 

23 Record ing charts (in packs of 100} 

Measuring range Part No. 

3.5-17.5 bar 622 001 0017 

2.0- 12.0 bar 622 001 0012 

10,0-40.0 bar 622 001 0040 

10,0-60.0 bar 622 001 0050 

patrizia
Evidenziato

patrizia
Evidenziato


